= A
N = 0] &F AF S & AN A
20198 = 20l A LBHSIH AFSI = X D
A AMIEX
By Lo=xEd
Sel LEMEEE NE EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ALS S X 99,807,050 92,177,265 7,629,785
= 52,004,511
Jl 1,058,795
& 14,626,002
= 32,117,742
LosXsA 56,213,367 52,776,026 3,437,341
= 35,710,681
Jl 17,499
& 4,327,839
= 16,157,348
CEMESAE XY 46,940,677 39,802,091 7,138,586
= 34,561,289
J| 17,499
o= 2,092,550
= 10,269,339
LolSAEEXE 12,600 12,600 0
307 QI2t0| ™ 12,600 12,600 0
11 A EXAIEEX 12,600 12,600 0
OLoSAIE2S XN ALY 12,600,000& 12,600
LolMeEt g & X & 95,720 55,800 39,920
201 gEt24y| 5,000 5,000 0
01 AF 2t 2| H| 5,000 5,000 0
OL=2EXNAM 222 M 5,000,000& 5,000
301 et A= 90,720 50,800 39,920
01 Al B & A 462 90,720 50,800 39,920
OB5HI0l & F2Lol A2AEE = K&
90,720,000 90,720
Lolggsr 29 27,500 23,352 4,148
307 2iz2to| A 27,500 23,352 4,148
11T AISIEXAIEEX 27,500 23,352 4,148
Ooros 29X 27,500,000 27,500
AHIIIRM K& 7,000 7,000 0
307 giztol A 7,000 7,000 0
11T A EXAIEEX 7,000 7,000 0
OAWHIIM X& 7,000,000 7,000
=32 38,513,936 33,481,775 5,032, 161
= 30,811,149
=} 1,540,557
= 6,162,230
301 et A= 38,513,936 33,481,775 5,032, 161
= 30,811,149
=} 1,540,557
= 6,162,230




SN ALSI S X
Hu: Lo=XEA
Se -EMEEY XS (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 MI2EZE+06l= 38,513,936 33,481,775 5,032, 161
OJl=d3 38,513,936, 000& 38,513,936
= 30,811,149
< 1,540,557
[ia 6,162,230
HBHEHXA 24,300 24,300 0
307 21201 A 24,300 24,300 0
11T MISRASER 24,300 24,300 0
HEB0 SN e 7,300,000 7,300
Onz24 HIH 2EXES AFY  17,000,000& 17,000
Z2AE R gAAY 63,700 57,750 5,950
301 L2 A= 63,700 57,750 5,950
01 MEIBEZE 405z 63,700 57,750 5,950
OZ2AY S SAAY 63,700,000& 63,700
MASTHOL= ol AABHE AL 246,600 202,650 43,950
301 et A= 246,600 202,650 43,950
01 MEIBEE 5= 246,600 202,650 43,950
OMASMItL ol AAIBHE ALY 246,600, 000& 246,600
2 F2EA X & 128,950 85,450 43,500
201 Let24d] 3,950 3,950 0
01 At 22/l 3,950 3,950 0
OZz=2t g2 2 50,0002 * 9OH 450
OkLo=XNs3A 22 M=
100,000& * 35%H 3,500
307 glz2tol & 125,000 81,500 43,500
11T M Z2XAIS EX 125,000 81,500 43,500
OZZ2F2tHAF XI&(9MH=SH) 125,000,000 125,000
colojy ALK 34,120 33,280 840
201 L2l 2,000 1,500 500
01 At 2t 2l 2,000 1,500 500
OLQlol & A HEIH M
100,000& * 20 2,000
202 oddl 15,120 14,280 840
01 = LH o4 1l 15,120 14,280 840
OLQ=X HEF& Kl 15,120,000& 15,120
203 YR =] 2,000 2,500 A 500
03 Al =AY R 2,000 2,500 A 500
OMEIESXHSR AlMZ=AH| 2,000,000& 2,000
307 glz2tol & 15,000 15,000 0




SN ALSI S X
Hu: Lo=XEA
Sl LEMEBE NN CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
11T M SRASE EX 15,000 15,000 0
Okolod A XA 15,000, 000& 15,000
HOIE=ZUS XA 6,000 5,000 1,000
307 glz2tol & 6,000 5,000 1,000
11T MISRASEX 6,000 5,000 1,000
OZ=JIXA HOIESUHSE 6,000,000 6,000
Lol ssMHIA 1,117,556 887,987 229,569
= 782,010
< 100,664
s 234,882
301 LB A Z 1,117,556 887,987 229,569
= 782,010
< 100,664
= 234,882
01 MI28E +06l= 1,117,556 887,987 229,569
OSIIIJMALAEIA At 29 2,055,000& 2,055
= 1,450
< 185
i 420
Okols=sJI2AdtlA A Y 29
774,801,000& 774,801
= 542,070
< 69,819
e 162,912
OL=SsEMUIA(HIRH) At 2
340,700,000 340,700
= 238,490
< 30,660
e 71,550
SHLO SSdLE M A 29 34,998 34,678 320
J| 17,499
< 3,500
e 13,999
307 glz2tol & 34,998 34,678 320
J| 17,499
< 3,500
e 13,999
11T M SXASEX 34,998 34,678 320
O=AHLo SSetdLE N A 29
34,998, 000& 34,998
J| 17,499
< 3,500
e 13,999
LosEsJIE2MHA 80,227 80,227 0
307 I+l & 80,227 80,227 0
05 RIZHRI &t 3 80,227 80,227 0
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SA-3H-S(3AH) - MRAS - BES Off &t 24
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M
2Hm
==
£l
Ol
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lE=JI2MHA 29I 80,227,000& 80,227

At

fol
Ho
fon
e
0l
ne
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©

30,000 30,000 0

10,000
20,000

EUNLY

307 glztol & 30,000 30,000 0

10,000
20,000

M H

1A SXAIE E = 30,000 30,000 0
SZEEAMY 30,000,000& 30,000

10,000
20,000

EUNL

Coldiiel ¥ Al ES XEAS(EX) 5,936,260 4,259,032 1,677,228
2,968,130

360,224
2,607,906

MW

307 gl2tol & 5,936,260 4,259,032 1,677,228
2,968,130

360,224
2,607,906

Mo A

o
&
e
~
10
Jo
o
o

,936,260 4,259,032 1,677,228

O
0H
Je

(oA 12002 9988 = XI2101)

1,268,200, 000& 1,268,200
634,100
126,820
507,280

MW

O
01
J

H(-=AHO 9HE 99888 = X19101)
524,280,000 524,280

262,140
26,214
235,926
H(RNGE oHg) 3,096,850,000& 3,096,850
1,548,425
154,843

1,393,582
OAMEIMHIAE 323,360,000& 323,360
161,680
16,168
145,512
OAlEE 338,100,000& 338,100
169,050
16,905
152,145
ocsgmAd 45,000,000& 45,000
22,500
2,250
20,250
O=dJl& dgeld 340,470,000& 340,470
170,235
17,024

O
0H
J
H A A H W HH A

EUNC R

MW
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SN ALSI S X
Mo Lo=XEX
ool LSMEEE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| = 155,271
Colgitel 2 AMSlEs NN (ZHIEX) 155,210 165,210 0
< 77,605
s 77,605
307 gl2tol & 155,210 165,210 0
< 77,605
s 77,605
05 RIZIRI & 3 165,210 165,210 0
OkLolgdrel & Malgs NS (ZHEX)
155,210,000& 165,210
S 77,605
s 77,605
ALIGIZ2E 29 300,000 280,000 20,000
307 21201 A 300,000 280,000 20,000
05 BIZERIE 3 300,000 280,000 20,000
OALUOE2Yg 29l 300,000, 000& 300,000
ST MY 6,000 6,000 0
301 L2 A= 6,000 6,000 0
12JEEd= 6,000 6,000 0
Ogdi+=& X& 50,000& = 1007 = 128 6,000
& Hedzg A& 100,000 80,000 20,000
301 L2 A S 100,000 80,000 20,000
12 JE24 3 100,000 80,000 20,000
Ost&&ed=X& 100,000, 000& 100,000
ZAAE NE=2ZHE =8 S 20,000 0 20,000
207 A RO 20,000 0 20,000
01 289 20,000 0 20,000
OFMAIE XIE=2H2 =8 84
20,000,000& 20,000
LETANE 29 & 2e 9,272,690 12,973,935 A3,701,245
= 1,149,392
< 2,235,289
[ia 5,888,009
Lo=Ex2 2Y 640,000 690,000 A 50,000
307 21201 A 640,000 626,000 14,000
05 RIZtE = 640,000 626,000 14,000
O =X2a 249l 640,000,000 640,000
CLZAE 2E N 656,311 623,752 32,559
= 459,419
< 59,068
s 137,824
301 LB A F 656,311 623,752 32,559




2N

=
-

P e=EXsd
Lole
4 =

X ZH
S =

At = X ot

Sl LoSXAM 29 2 el CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 459,419
< 59,068
= 137,824
01 MEI2BZE 05z 656,311 623,752 32,559
OoAdZAd 24 N& 656,311,000 656,311
= 459,419
< 59,068
[ia 137,824
Mot =XAIE 29 X 335,930 286,600 49,330
301 et A= 335,930 286,600 49,330
01 AR 2Z A5 3 335,930 286,600 49,330
OMIt-=XNAE 28 XN&  335,930,000& 335,930
HI2EAE 2EXA 3,600 3,600 0
< 1,440
s 2,160
307 gl2tol & 3,600 3,600 0
< 1,440
s 2,160
10 AL SXNAIEEE2EH EX 3,600 3,600 0
OMU2EEXNAE 2L XA 3,600,000& 3,600
< 1,440
[ia 2,160
SoFEILI2 AIESH X 3,201,660 8,162,420 A 4,960,760
< 1,697,000
e 1,504,660
301 et a = 3,201,660 8,162,420 A 4,960,760
= 1,697,000
e 1,504,660
01 MEIBZE 5= 3,201,660 8,162,420 24,960,760
OL&ILIN& AIE=SH XA
3,201,660, 000& 3,201,660
= 1,697,000
[ 1,504,660
COFEIIYI2 HItsSW K& 637,542 618,976 18,566
301 et d = 637,542 618,976 18,566
01 MEI2EZE+05l= 637,542 618,976 18,566
OLFIQAIIZ WIHsH X
637,542,000 637,542
LO=ERANE JIsEH 596,160 0 596, 160
= 476,928
< 35,770
s 83,462
402 2I2HAHE01 M 596,160 0 596, 160
= 476,928
< 35,770




A AMIEX
Mo Lo=XEX
Sl LoSXAM 29 2 el CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 83,462
02 BIZtXIEANYEX(0OIETHHA) 596, 160 0 596, 160
OXMHEEA SHE(1MA) 477,000,000& 477,000
= 381,600
o= 28,620
= 66,780
OXEEA HES(1MA) 119,160,000 119,160
= 95,328
& 7,150
= 16,682
dze XN 831,400 737,598 93,802
201 LBt 2,000 0 2,000
01 AFR2 22| H| 2,000 0 2,000
OAH LOIg 23 AUALEEA
2,000,000& 2,000
307 2Iz2t0| & 79,000 78,550 450
06 22 59,250 58,800 450
O3z 282 150,000 = 39504 &~ 59,250
11T A EXAIEEX 19,750 19,750 0
Odg4d d9i=sAe
25,000 * 39501 & = 23] 19,750
401 AIEHI 2L 2 0H L] 59,000 131,148 AT2,148
01 Al& H| 59,000 131,148 ANT2,148
OZzY MW=+ 50,000,000 50,000
Os84dg Aol 3¢ #H 9,000,000& 9,000
402 SI2F X201 M 691,400 527,900 163,500
01 BIZtXIEAYE X (KM TH ) 691,400 527,900 163,500
OZ=2E AL EHWE L ASAY
47,400,000 47,400
OZZE XA 499,000
M= 270,000,000& 270,000
-=5= 45,000,000 45,000
-HE % 180,000,000 180,000
-L 0I5 23 HHEZX 4,000,000& 4,000
OZz Y OHOIHE E3 ALY 70,000,000 70,000
oOdz% oz E2AMY 75,000,000 75,000
A2 294 XK (HH) 482,400 351,000 131,400
301 PP B A 482,400 351,000 131,400
01 Al E& A 46 2 482,400 351,000 131,400
Odz4Y 294l X& 482,400,000& 482,400
ARG Jduery|(2=2H|) A& 852,170 760,500 91,670
= 213,045




2N

X{ XH -
S =

el i&%ll/\l“ 2y 2 el CERED
_ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 191,736
= 447,389
301 LBt A= 852,170 760,500 91,670
=2 213,045
&< 191,736
= 447,389
01 Al E & A 462 852,170 760,500 91,670
Od=2 g ey (Y2428 )X &
852,170,000 852,170
= 213,045
& 191,736
= 447,389
9988 & = LIS 0| 528,299 518,013 10,286
&< 158,490
= 369,809
307 2iz2to| & 528,299 518,013 10,286
= 158,490
= 369,809
11T AISIEXAIE EX 528,299 518,013 10,286
09988 =Lt 0| 528,299,000 528,299
& 158,490
= 369,809
SN SSHFH XA 55,000 57,550 A 2,550
301 et A= 45,000 45,000 0
01 Al B & A 46 2 45,000 45,000 0
OENLQ ZEHE=M 249H|
500,000& * 15014 ~ 68 45,000
402 SI2F 20| & 10,000 10,000 0
01 BIZtXIEAY B X (KM IHK) 10,000 10,000 0
OEAHL Z2=SHE=M XNEAFE 10,000,000 10,000
Ad2EY ddold 1| 31,699 29,527 2,172
=} 6,340
= 25,359
307 212t0| & 31,699 29,527 2,172
= 6,340
= 25,359
11 A EXAIEE X 31,699 29,527 2,172
OZ2Y =3 —=2724 2|l 1
31,699,000 31,699
= 6,340
= 25,359
heteolsg s42X35 249 111,268 74,872 36,396
307 QI2t0| ™ 111,268 74,872 36,396
10 A SXNANEEHESIGH EX 111,268 74,872 36,396
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Akl = X1 ot
Lo=EXsd

CASTAE 29 & 22

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
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Oletcols sd4=2X3 24X
111,268,000&

111,268

o

ro

celg A2XE MAR= 2EXE

SUNE

28,151

5,630
22,521

26,527

1,624

307 21201 &

UL

28,151

5,630
22,521

26,527

1,624

Mo

28,151

28,151

5,630
22,521

26,527

1,624

2 EXIN0IAY

UL

247,800

74,340
173,460

247,800

307 glz2tol ™

UL

247,800

74,340
173,460

247,800

1A SXAIS 2 =

OZ2% X210l ALY 247,800,000&

EUNLY

247,800

247,800

74,340
173,460

247,800

M

33,300

5,475
27,825

33,000

300

UL

23,700

3,555
20,145

23,400

300

23,700,000&

EUNE

23,700
23,700

3,555
20,145

23,400

300

307 glztol &

M

9,600

1,920
7,680

9,600

1A SXAIE 2 =

O3zg3ld wsH X 9,600,000

M H

9,600
9,600

1,920
7,680

9,600

Y

1,389,816
302,932
456,022
168,552
462,310

878,494

511,322

0x
J
pal

836,430

599,370

237,060




M ASIS D
M Ed=XSA
S R REE PN (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 302,932
Jl 59,566
< 100,087
= 373,845
ol XA 41,602 43,340 AN 1,738
201 et A | 2,000 2,000 0
01 At 22l bl 2,000 2,000 0
OWAEH =X EEIH M
100,000& = 204 2,000
301 Bt A= 570 570 0
12 JIEtE2 A= 570 570 0
OW&EEX & -3Y AL 24
19,000& * 159 = 23| 570
307 QI2t0| & 39,032 40,770 N 1,738
10 Al SXAIEEE2IHIEX 22,992 11,130 11,862
Od=MEs 2HXJ 22,992, 000& 22,992
11 A SAAEE X 16,040 29,640 A 13,600
OWAEXNEA | WFH| 11,000,000& 11,000
O&8&N8 2HXJ 5,040,000 5,040
Hysla 29 51,534 33,934 17,600
201 et A | 44 134 28,834 15,300
01 AtR 22l bl 9,860 9,860 0
O4d3 2 g2 =84l 8,900
=283 ¢ HiesZT HA 1,100, 000& 1,100
-{ds 2 ARE 2L 1,400,000& 1,400
-HAFO0DIsRE A2E 22 1,000,000 1,000
EE= N P e sy = 3,000,000 3,000
S RSl PS T sy = 150,000& * 123] 1,800
-H4J| dx=2 50,000& = 1§ ~ 12&€ 600
oY A=t 80,000& * 12& 960
02 352494l 34,274 18,974 15,300
OdIIe=2 500,000& = 12& 6,000
Oagtot ™S 3| 50,000& * 13 50
ougtA =] 1,200& = 300 = 8AIZ2H * 105Y 3,024
Odz & A=K AXH| 3,000,000 3,000
OWAHa 2 ZHDHM(LED & ZHIME WHl)
125,000& * 1124 14,000
OWMdE 2 bt A 4,000,000& 4,000
ORodHIAAE 350,000 = 12& 4,200
405 XH&HF SHI 7,400 5,100 2,300
01 JHAE 2 E F S H 7,400 5,100 2,300




SH: AS =X D
ol 04=XSE
S Ha=x (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=
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==
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OXota g ooz 3,000,000 = 1CH 3,000
OXlotald AJIAA I 2,400,000& =+ 1CH 2,400
Ousd gZ=23H 2,000,000 = 1CH 2,000

ESHHAENM (M E e AIY)=2Y 40,980 37,500 3,480
12,294
28,686

EURLY

101 1Al 40,980 37,500 3,480

12,294
28,686

M
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OSSogUEM(ZALE AIY) 29
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EURLY
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114,191 82,908 31,283
57,095
28,548
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S

M

307 21201 A 114,191 82,908 31,283
57,005
28,548
28,548

S

M H

10 A SAAEHE2SEHIEXR 114,191 82,908 31,283
Odtg=sgdga 249 XA 114,191,000& 114,191
57,095

28,548
28,548

S

EUNE

JFIEEDoi A n¥XNE T2 1,815 4,998 A 3,183
1,271
272
272

S

AN

307 glztol & 1,815 4,998 A 3,183
271
272
272

S

Mo

11T M SXAIEEX 1,815 4,998 23,183
OJNE=EEHIoi 4t ndXE 228 23
1,815,000& 1,815
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272
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N
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JFEZEIOoi &t 2l =l 1,714 1,714 0
,200
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S

M

307 glztol & 1,714 1,714 0
Jl 1,200
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GESEEPN
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1,350

405
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307 glztol &

M

1,350

405
945

1,350

1,350,000&

UL

1,350
1,350

405
945

1,350

EUNE

10,000

3,000
7,000

10,000

307 21201 &

EUNL

10,000

3,000
7,000

10,000

10,000, 000&

M

10,000

10,000

3,000
7,000

10,000

EURLY

44,544

13,363
31,181

49,144

A 4,600

307 21201 A

EURLY

44,544

13,363
31,181

49,144

A 4,600

1A XA E =

OWdHIXNEI 2 2E 44,544,000&

Mo

44,544

44,544

13,363
31,181

49,144

A4,600

OOl S S X & At

MW

432,760
302,932
38,948
90,880

268,372

164,388

MW

240,720
168,504
21,665
50,551

126,134

114,586

240,720

126,134
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AN ALEI =X
3 dd=Nsd

S ECEEESY CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OOlOISEX A (22 #=IrS)  240,720,000% 240,720
= 168,504
< 21,665
s 50,551
307 21201 A 192,040 142,238 49,802
= 134,428
< 17,283
[ia 40,329
05 RIZt2IEt = 192,040 142,238 49,802
OotolEs NEAY 192,040,000& 192,040
2 134,428
< 17,283
= 40,329
He=sX XA 39,120 37,920 1,200
201 £B-2%H| 7,200 6,000 1,200
01 AL 22l H| 7,200 6.000 1,200
OZ0ly S NZDS ALY
400,000& = 43 = 227 3,200
ON4getd 22 S MZEH 2,000,000 2,000
O0dgEXg: M=8t(a+=2 &)
2,000,000& 2,000
202 o4dl 1,200 1,200 0
01 = LH o4 1l 1,200 1,200 0
O0dalat 2 HR=A Kl 1,200,000 1,200
301 et Az 30,720 30,720 0
12JIE243 30,720 30,720 0
OW&FDIIzNSE MY
480,000 » 8t= = 27| * 43 30,720
HAEZRSEZA =4 10,220 6,440 3,780
201 L2l 5,000 0 5,000
01 At 221l 5,000 0 5,000
Odzlast s ZAt=g 3,000,000& 3,000
O E2MA, 82 S ME
2,000,000& 2,000
301 LAz 4,220 5,440 21,220
09 BAEHIE &S 1,500 2,720 21,220
OMEHZ= 2=X9% #X 0t 1,500, 000& 1,500
12 JIEE4d =3 2,720 2,720 0
OMEZHZE 8324 20,0003 = 34%H x 43| 2,720
303 &3 1,000 1,000 0
01 Z& = 1,000 1,000 0
OWYZESEA AHFE 22N Z&3 1,000




SN ALSI S X
g d=1sd
SR CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-3 R 300,000& * 124 300
-2 = 200,000& = 204 400
-8 o 150,000& * 24 300
AoNgH ns=EZ2H 7,000 8,000 A 1,000
307 glz2tol & 7,000 8,000 A1,000
11T MIEXASEX 7,000 8,000 A1,000
OXI1gd nsZ=20H 7,000,000& 7,000
OOISSXJAEEH SAX MM 1,200 1,200 0
< 480
s 720
307 21201 A 1,200 1,200 0
< 480
[ia 720
11T MISRAISEEX 1,200 1,200 0
OOtOIS SN EE SAA HRIHLH|
1,200,000& 1,200
= 480
s 720
HAEFGRRAIN 2 SAL HRMEH XA 1,200 0 1,200
< 360
[ia 840
307 21201 A 1,200 0 1,200
< 360
e 840
11T MISAASEX 1,200 0 1,200
OWEHYXNAIZ SAX HRMLH K&
1,200,000& 1,200
= 360
[ia 840
HEZAAHANE SAX HRMLH| 3,600 3,600 0
< 1,080
[ 2,520
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